O A A O &= AABC 9] ¢]Ao|t}, /OAB = 10°, /OBC = 30°
o o, /0AC 9] Z7]=7

@© 40° @ 45° @50° @ 55° ® 60°

S8 \
/OAB = /OBA, /OBC = /OCB,
LOAC = /OCA
/OAB + /OBC + £OCA =90°
. /0AC =90°-40°=50°




the I™- O AABC A A 1= AABC 2] YAolt}, /C = 70° &
Lx+ Ly &) A7]& oot

A

D 175° @ 185° @195° @ 205° ® 215°

/AB = /IAC = za, /IBA = /IBC = /b 2t 5}
AABC A 2za 4 22b + 70° = 180°

S la+ Lb = 55°

ABCE |4 zx = /b + 70° , AADC ©f|A]

Ly = La+ T0°

SoLx+ Ly = (Lb+T70°) + (La + 70°)

= /a + /b + 140° = 55° + 140° = 195°




3. HIPAHSGABCD oA /BAC = 70°, /BDC = 45° & o, /OBC +
(OCB 9] 271&7

A
[> <7

@ 70° (@)65° ® 60° @ 50° ©® 45°

(ABO = 45° (97})
/OBC + /OCB = A0BC 9|7t
- /AOB = 65°




s APIE ABCD o4 £ A P, Q & 717}
H BC, CD 9] F3 o]tk mABCD 2] 4]
7} 64cm? € Wi, AAPQ 9] Hlo]&=?

® 16cm? @ 20cm? @24(:1112

@ 28cm? ® 32cm?

B

AABP = }LDABCD = }1 x 64 = 16 (cm?)
1 1
AAQD = ZDABCD = Z_l X 64 = 16 (cm2)

APCQ = %DABCD = é X 64 = 8 (cm?)

AAPQ = 64 — (16 + 16 + 8) = 24 (cm?)




Zo]A oA oABCDE AAMZEEo|a1, AD = AE, /ADE = 80°
Ao, /x9] 27]=7
E
A ~AD
80°
X
B C

@® 25° @ 30° 3)35° @ 40° ® 45°

B ~

AADE o] A

/EAD = 180° - 2 x 80° = 20°
. /BAE =90°+20° =110°
ol o, AB=AD = AE°|E&

/x==(180°-110°) = 35°

N | =
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S %o Al A+ ABCD, GAEH, EBFH 7} %< u, BF
7 1

G \
\
\
E H 7 ’5 cm
//
B F C

@ 25cm (@)360111 ® 50cm @ 75cm ® 90cm

B ~

AD:DC =GH: HE = EH : HF
AD:DC=100:75=4:3
EH = BF = ¢ 2} 5}

= 3 == 4
HF—ZG,GH—ga

GH + HF = DC = 75(cm) °|E&

4 3 25
§a+za—75,ﬁa—75,a—36(cm)

. BF = 36cm




8.  o& IHAA x o #2?

® 6 @7 @)s
@ 9 ® 10

D «
(BE 3%

BE:AB=BD:BC, (Bt 35 o2&

AABC 2 AEBD(SASE-2)

HeH|7}2:10|B22:1=x:4

x=38




9. o= I"NA BFD S A77F 22 A27

A
D B
N
® /ADC ® (EBC ® /BAC
@zBDC ® (ABE

/BFD = /CFE = 180° - (/FEC + /FCE) = 180° - (\DBC +
(DCB) = /BDC




10.

the 17 9] 4713 ABC o4 AD = /A 9 o5& Mol
AC =5:3°lch. 41214 ACD 9| Hol7h 40cm? & of, 442}

A
/0!
B D C
2 2 50
@ 8cm @ 10cm (©) Jom
2
@ %ch ® %cm2

BD:DC=5:30°]E2 AABD : AADC =5:3

AABD :40=5:3

. AABD = ?(ch)




©
N | Ut

@ 3 ®).

@ 4

| ©

AB:AC=BD:CD
6:4=(x+7):7
4x 4 28 = 42

4x =14

..X:§




12, o5 283 go] +

210] Al 24 €,m,n

b o, x o] 2h22 (B, 1/ m )/ n)

@12

@ 10

@ 14
® 8

® 16




13.

@ 2cm @ 3cm 3 )4cm @ 5cm ® 6cm

B

AAFD 94 AE = EF , AG = GD 0|22 473e] 24a2
cECEE

FD — 2x, FD // EG

ABCE |4 BF = FE , FD // EC ©| 2.2 47t 9] 34 a 2%
2] oof ol

_ 12

FD:X+ cm
2

_ 12

FD = 2x = xg




14. o3 I"9A H G &= aABC o FAFAleIth BC = 12em ¢
AG 9] 4ol=?

A

@ 6cm @ 8cm ® 9cm @12cm ® 1l4cm




15. o2 13804 AD & AABC 9] FA4lo]1,
AP = PQ = QD ©|t}t. AABC =30 ¥ o,

APQC ¢ Hol&?

o3

AACD = %AABC =15,
AP=PQ=QD o2&

1
APQC = %AACD =3 x15 =5




